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MATHEMATICS L2
(First paper)
INSTRUCTIONS TO MARKERS
l. Examiners are reminded that the subject Mathematics lends itself to a variety of

methods and therefore several different alternative answers. Mark all mathematically
correct answers.

2. The answers provided in this memorandum are therefore not exhaustive. Marks are
allocated for a specific principle and the markers must adhere to the mark allocation.

3. Mark the questions and follow up, for example: Error in the first step of
differentiation, mistake in converting from surd to exponential, does not imply that
the student can't differentiate. Follow up.

4. Marks are allocated per step, but if a student omitted a step and there is evidence or
reason that he/she can derive at the next step without calculation, then the mark must
still be given to the student.

5. Take note that marks have been allocated to simplification. This is to differentiate
between your 80 and 90 percenters.

6. Steps must be marked and not only the final answer. Ticks must correspond with the
total. Put your ticks and crosses neatly and legibly in RED pen only.

7. If the answer does not look the same as in the marking guideline, it could be an
alternative method or a method that is not known to you as marker. Please take a

moment before you mark, verify the student’s response.

8. Do not at all adjust marks of students in order to give them a pass mark.
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v" = full mark
\ = half mark
QUESTION 1
1.1 1.1.1 D
1.12 B
1.1.3 B
1.1.4 A
1.1.5 C
1.2 4,413
Let x=4,413
1000x =4413,413 v
-.1000x —x =4409
999x = 4409
x:4409 N
999
999
1.3 1.3.1 JI0-+5
J10
2545
V245
NN
B
5(V2-1)
245
V2-1 2, 2-\2
_NET L NELETNS
V2o 2 4

(Answer only — No marks)
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(Answer only — No marks)
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1.3.2 Ja8 v +:J27)
\J(48x7%)
VJ443x+33.3x%)
4430
4://5 x—3\/§\)/c
43 x N
3x(4-3)
- 43 x

1
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x—4

3xx1xx?
A

S @)

1.4.2 x2y3><x3y4+ x5y7
2x7y)Y  Jaxty
_ x2y3xx3y4\/x/2x2y3
- 22476, X 5.7
Xy N Xy
2x7y10\/
x8y+
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1.4.3 6% 25+
4532
(2.3)7.27.2
T2 337N
2737272 J
C 23737
4.2% 3732
I R
=36 v (3)
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1.5 1.5.1
1.5.2
1.6 1.6.1
1.6.2
1.6.3
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MATHEMATICS L2
(First paper)
A =4 (1+rt) Alternate
i:l—l—r><t \ Aq
A, —=14+rxt
4N Ao
S—Lt—1=rxt v
0 Al
——1=rxt
St=|—L-1|+r
1 v
o A "
ort:[i— jxl t =A0
A() r r
0,,1:[4—4,}
A r
2625 15 \ Alternate
““\1500 )70 2625 4
= 1500
100 N 15
t=0,75x| — |=5years 00
(15] Y 100
=5 years

VA
2;6;10;14;18;22;26...

T =a+(n-1)d
1D

T,, =2+(49)4

T, =2+196

T, =198

T =a+((n-1)d

\/

-5

| _
28623 2+ (n—1)4 N

2860 =4n—4
2864\L 4n
S.n="T16 years

\/

\/

)

(1)

2)

)

3)
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QUESTION 2

2.1 2.1.1

2.2 2.2.1
222
223
224
225
2.2.6
2.2.7
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) oralternatively substitute (5;1)
X, =4
1+ y=—x+c
"50 5
3 v 1=3G)+e V
m= 5 and y-intercept =—2 5
3\ =" J
y==x-2 3
5 y= gx -
Alternative:

Y=N :m('x—xl)
yN=2G-9)

y:%x\/—2 v

(Mark all mathematically correct methods.)

Straight-line graph v

x;t‘fwhere xeR v
OR

{x‘x<%0rx>\éwhere xeR} v
OR +

x € (—oo;2)and (2;0) where x € R

Discontinuousv’

There is an open point on the graph atx =2 v
OR

The graph does not existat x=2 v

OR

You have to lift your pen to draw the graph v*

woOOQ»»O0Ow

(7x1)
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23 23.1 ANSWER SHEET

#

v’open point
\ quadrant

gx)
f() V'straight line

graph not on asymptote

\shape
quadrant

closed pointv’

Marks to be allocated as follows.

®)

3 marks for the straight line (closed pointv'at (-2;-4);v straight line shape through

origin, v'open point at (4;8)

2 marks for hyperbola (Y for arm in quadrant 1; v for arm in quadrant 4; graph not

on asymptoteV;\ shape )

v v
232 Range ={y;y #3;y € R}
233 y=3
x=0
234 The graph will be in quadrant 1 and 3
OR
The graph will change from increasing to decreasing. v
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QUESTION 3
vy
3.1 3.1.1 4x* -9
3.12 (X* +y)(dx+3xy+x'y%)
=4 43y +xy° +dxy+3x)7 +x7'y’
=4x 43Xy +4xy” +dxy+x"'y’
3.2 3.2.1 20x% —45y?
:5\f4xzv9y2)
=512x-3y)2x+3y)
322 2x* —5x-3
= (2¥+1)(x¥3)
3.2.3 ( X —15x)+ 12y 4xy v
—le/x 3)+4y(3-x) \
=5x(x 3)—\/4)/( -3)
=(5xap)(x-3)
3.3 6x°y* +21x%y* +18x)°
18xy°
v v
3x y? (2x2 +7x+6)
- 18xy°
(2x2+7x+6) v
- 6
_(x+2)(2x+3)
- 6
3.4 3.4.1 2 4
x x+5
2x+10=—-4x ~
S 6x=-10 4/
.'.x:_—loz—lg:—l,é v
6 3

(Answer can be left with a negative exponent.)
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Alternate
(5x% — 4xy) + (—15x + 12y) ~
N 3

=x(5x — 4y) -I\] 3(—=5x + 4y)
=x(5x — 4y) — 3(5x — 4y)
VN

=(5x —4y)(x — 3)
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3.5

3.6
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343

3.5.1

3.5.2

9.

MATHEMATICS L2

(First paper)

xP—6x+9=x-1
X —7x+10=0 V
(x—s)S)c—z):oV v

x=50rx=2

27x+1 — 9x—2
NG
33x+3 — 32x74 \/
3x+3=2x—4
x==7 N

6-5x>4x-9

\L9x >-15 +

IRSERN
9

x<—

3

xsl2
3

\ direction

2x—y=Teq 1
3x+2y=28 eq 2
From eql

y=2x-7 eq3 v
Substitute eq 3 into eq 2
3x+2(2x—7):28
3x+4x-14=28
Tx=42

Sx=6 v
Substitute x in eq 3
yzz&)f7=5 v

)

)

(2)
\closed dot

(1)
Alternative
2x—-y=7 eq 1
3x+2y=28 eq 2
eqlx2 = 4x-2y=14 eq3
eq 3+eq 2
:7x\£42 v
Sx=6
Substitute x in eq 1
2(6)-y=7 A
Sy=5

3)
[26]
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QUESTION 4
4.1 4.1.1

4.2 4.2.1
422
423
4.2.4
4.2.5

4.3 43.1

432

433
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A: R92 060,00 — R96 000,00 = —R3 940 v
B: R97 490,00 — R91500,00 = R5 990,00 v

R92 060 — R97 490 = —R5 430V
Deficit (The answer must be negative)

(a) Variance =R13 350 —R16 000 =-R2 650 v’
(b) Itis a favourable scenario v/
2x1)

>owmo

(5>1)
_ AP
4 _A0(1+100t)

A —156/001 18/ 3\/
t (+ﬁ( ))

A =R23100
A =A0(1+Ljv
100
v 3
4, =15000[ 145 ] ¥
100

A =15000(1,643) V
A, =R24 645,487

;/' n
A=A |1+—
' ( 100) v

v W R
18017,36=15000| 1+——
( 100)

18017,36 rY
e 1+_
15000 100

1
18017,36 | r
2 :1_|__
[ 15000 ) 100
1,063-1=——
100

Sr=63% Vv

TOTAL:

2)

(1)

)
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)

)

4)
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